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Use a calculator to evaluate each expression to the nearest ten-thousandth.

log5 log21 log 0.4 N
_ 0, 6989700043 - 1,322219295 _ -0,3979400087
~ 0.6990 ~ 1.3227 ~ —0.39%9

padiul Dslzall S i JIIHI 1ig) M i) Golsio Bady by bo JIJ5 e e LI 58l 3530 B @3l dgeS pole
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(n.8+ 1.5(8.5)
IOJL::II-'3+(.5/\/\ = £ = 1o

(-8 +1.5mM)
(o

= £ = - 3,548133892x1024

Solve each equation. Round to the nearest ten-thousandth. Bl Bydue oo e3> 9,5‘2 38 dslze JS J>

6* = 40 2.14*2 = 8.25 7% = 20.42 1103 = 5b
22 = lo(b Lo oo+ 2 = \o(:) 3-25 7'1 = fOS 20 .42 4)'3 = 103 '513
¢ 2.\ T 1
= 2,058802823 b-3 = | log s

|
~ 2.05%% o = /039-23 -2 X = ;Slob 2042 5_},\035 ;3
+ |\

21 b(\ - loaS) =3

(

_ 0, 8441932669 - = 1,245063035 ‘
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54 > 33
Ln > loeg 33
85
loa 33
n > 35
L

n. > 0,5431255742

n > 6.354%3l

Solve each inequality. Round to the nearest ten-thousandth.
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6P~1 < 4?
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P < 4, 419022583

P < 4-4190

log; 7
Qof) 2
(08 3

_ 1,771243749

. 7712

logq 13
\og \3
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Express each logarithm in terms of common logarithms. Then approximate its value to the nearest ten-thousandth.
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